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B.Com. (Part-ll) Examination, 2013
- Third Paper

(Cost Accounting)

Note:  Answer five questions in all. Short answer type question No. 1
carrying 40 marks is compulsory. Answer one question carrying
15 marks from each unit.

1. fr=fafaa & ag S| dfae— 4x10=40
Answer the following short answer questions— '
(i) O & T FANE ?

What are the elements of cost ?
(ii) foraezdt oW A T 7 2
What is Economic order quantity ?
(i) o= Pt 1 =/ w% ?
What is meant by labour turnover-?
(iv) FOTEHF T ASFT B T R 7 2
What is the purpose of an incentive wage plan ?
(v) SE-93 R0 7 ?
What is a cost sheet ? '
(vi) STt S Q T AREE € 2
What is meant by uncertified work ?
(vii) o wE fardta @@ &1 faerm A i S R 2
Why cost and financial accounts are reconciled ?
(viii) T T SEHT § ATYHT T I § ?
What do you understand by batch costing ?
(ix) STEFT &9 UE S oY ¥ 39 T T € 2
What do you mean by abnormal loss and abnormal gain ?

(x) IR e SEiET TSt € 2
What are the objects of operating costing ?
Unit-l _
2. NG A@ET T 2 T0% Ie¥d Ud A @i fad=e Sife— 15
What is cost accounting ? Explain its objectives and advantages. Or
3. TR M TE YER 9 i ¥ 39 N THE &/ U HIh SR
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What do you mean by first in first out (FIFO) method ? Explain with imagi-
nary illustration.

Unit-lI
ﬂhﬂ?ﬁmﬁm%aﬁmﬂ@mﬁmmﬁ ATYHT R
A € 2 T o T TR ) e — 15

What do you mean by piece rate and time rate system of remuneration the
labour ? Explain their advantages and disadvantages.

mW%WWWWM%mmmﬁ
sifieh B Fot TR a9 S §HTE 0 AT O R —
gl W W T 5 w0
T W 8 wue
TR IR 10 e
ag W o 50%
Jeqfed geBrEEl A 8§ TR
B 10 T
C 12 =
D 15 T

From the following information compute total wages and labour cost per
unit in each condition under Halsey premium plan—

Rate of Wages _ T 5 per hour
Standard time 8 hours.
Standard production 10 units
% of Bonus . 50%
Units produced A 8 units
B 10 units
C 12 units
D 15 units
Unit-ll]
F AR IH W AN T T € ? 3R, @ fFw T 9w =7
T & T 0 6t fafy saa— 15
Is it desirable to take profit on uncomplete contracts ? If yes, to what extent
and why ? Sta:teth rocedure to ascertain this profit. Or
T O[ feo-us dER Sif—
RS i
3 3
Fedl TRl A RE 75,000 78.750
g fffa sf 24,660 7,300
fafida W 1 == 52,080 47,250
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Prepare a statement of cost from the follov;fing particulars—
Opening

Stock or Raw materials
Work in progress
Stock of finished goods

Purchase of raw mater:als

Sales

Direct wages
Works expenses
Office expenses

Selling an i distrioution expensecs

Scrap solc

MGKYVPonline.com

4
75,000
24,660
52,080

65,700

2.16,930

51,450
25,020
20,610
12,630

990

Closing
z
78,750
7,500
47,250
65,700
2,16,930
51,450
25,020
20,610
12,630
290

8. @-THFITA o fafr =i ? ? TR I3 IO | TEE! W@ T Ao F

U FhA—

15

What is non-integrated accounting system ? Discuss tts ohjecis. Describe

its main icdgers.

Or

9. ‘& vd % IR € weie e gE € 3 @ e e

T Fora—

wed grT ad B wen g g (W)

vz g (&rms)
EE e (A
e fErm (afhEs )
gaw v SO (SiHE)
ZE= W dad (S gue)
EEATGR (o 1 G 2
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15,000 SREEY
- 6 4
25,060 15,000
750 750
7¢8 400
600 5CO
1200 - 1200
4 4
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3fd it e 9 20 I

g
A T TR S R, 2 2
. TR H B (Wi ) 1 0.80
R & AP e (fet) 1,00,060 75,000

TE S Yo W 5 Wi qiiie S0 oPed | ame 3ifea €9 § 20 frandtx
iz #1 fa ¥ So §—

From the following information relating to two different vehicles 'A' and
'B' , calculate the cost per ton km—

Vehicle 'A’ Vehicle 'B’

Vehicle run annually (in Km.) 15,000 6,000
Per ton-km (average) 6 4
Cost of Vehicle 25,000 15,000
Licence fee (annual) 750 750
Insurance (annual) . 700 400
Garage rent (annual) ' 600 500
Salaries and inspection (annual) 1200 1200
Drivers's salary per hour 4 3
Cost of petrol per litre 2 2
Kilometre run per litre | 20 L5
Repair & Maintenance per km, | 2 2
Dep. of tyres per km. | - i ¢.8¢
Estimated life of vehicle © 1,06,000  75.000 (kms!

Charges interest @ 5% p.a. on the cost of vehicle. The vehicle run 20 kim.
per hour on an average. &
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